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Two identical antennas mounted on identical towers are separated from each other by a
distance of 45 km. What should nearly be the minimum height of receiving antenna to

receive the signals in line of sight ?

(Assume radius of earth is 6400 km)
Options :

8643515131, /2-1 m

8643515132, 2000 M

8643515133, 1282 m

8643515134, 10-77 m

Question Number : 1 Question Id : 8643511711 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gege 0Ig 45 km QaEI6a g QAL YQIGRINR C9F U6a QEF YRR ZIcdR QARG |
QE4AIR 609l (RAR AT, ARS) 60 VEREYLR F24 AR TR IR AR W6 AUy 6960
62 @56 ?

(49 92919 MIAF 6400 km)
Options :
8643515131, /0-1 m

8643515132, 2222 m

8643515133, 1282 m

8643515134, 1077 m

Question Number : 2 Question Id : 8643511712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The de-Broglie wavelength associated with an electron and a proton were calculated by
accelerating them through same potential of 100 V. What should nearly be the ratio of their
wavelengths ? {mp= 1.00727u m,=0.00055u)

Options :



8643515135, 43 : 1

8643515136, 1860 : 1

8643515137, 414 :1

s
8643515138. Sl B

Question Number : 2 Question Id : 8643511712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
65lIEN QRERG G 99° 66T 69190] 100 V @ QAIq a9 digiQien Gae Kl Q°ge G6LI9R oo
6RdY ARR FAGR | CANIER 0T CIAIR AFUE AIHUAY 6960 681 ?
(m,=1.00727u m,=0.00055u)

Options :

8643515135, 43 : 1

8643515136, 1860 : 1

8643515137, 414 :1

ha
8643515138. Ll St

Question Number : 3 Question Id : 8643511713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The refractive index of a converging lens is 1.4. What will be the focal length of this lens if it
is placed in a medium of same refractive index ? Assume the radii of curvature of the faces
of lens are R, and R, respectively.

Options :

8643515139, 2eT0

8643515140, !

8643515141, [nfinite



"Ry Ry

8643515142, By ~Ho

Question Number : 3 Question Id : 8643511713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6ElEN 9@ Q9 2RFs(20A0R) J9RI99 gEdadis 14 266 | 9T 1% 9erietq Al godadia
2l IR FIIFER QI 19IQ 6TIRQ 63 660 620 ? UEFY JORISTR QRYSR AT AARER
R,68R,I

Options :

8643515139. H

8643515140, |

8643515141. S S

Ry R,

8643515142, L~

Question Number : 4 Question Id : 8643511714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Red light differs from blue light as they have :
Options :
Q643515143 Same frequencies and same wavelengths

2643515144 Different frequencies and different wavelengths

2643515145 Same frequencies and different wavelengths

Different [ requencies and same wavc-lengths
8643515146.

Question Number : 4 Question Id : 8643511714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



wliwl IEWR @@ e Ol e 62IQelg 6ERE 69FlTWR 2 :
Options :

8643515143 el ZIQe! 9e° e Lolr gnal

2643515144, B2 2AE 99° 6} 0O 6

8643515145 Aelle 2iv'a 99"° wR Pl Al

8643515146, We 2QE 9e° dAIR PRl sl

Question Number : 5 Question Id : 8643511715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.—.'r {ae ™ A
The magnetic field in a region is given by B =B, ti} k. A square loop of side d is placed
a ) :

- A

with its edges alnng the xr and Iy axes. The Inop is moved with a constant velocit}-' v =Tt -
The emf induced in the loop is :
Y

A

Options :

0 "o

.B v.d
8643515147, 2a

B,7, d2
8643515148. a

B,v2d
8643515149, 24



oo

B.v :jlE
8643515150, A

Question Number : 5 Question Id : 8643511715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
—_— i "1 ey 2 - i 5
& dE@eR QAL 689w B = B, li |Ic 66d wUIdaE | dif d 49 9@ QGINIa Qde x AF @
\a)/ :

y-28 D660 QgIgal | ROFQ 9@ 80 afeRd v =1, 69 dFNIQ AAIGRI | OTER 6gae FquQ
QeR @R 62a8 :

y
rF Y
Oz
d
d
> X
Options :
B.:. Uy d
8643515147, 2a
B.ov ::1E

- Q

8643515148. a

' 2
BII:I I:III.:I d

8643515149, 24

Qo

B. o :jl2
8643515150, A

Question Number : 6 Question Id : 8643511716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Amplitude of a mass-spring system, which is executing simple harmonic motion decreases
with time. If mass=>500g, Decay constant=20 g/s then how much time is required for the
amplitude of the system to drop to half of its initial value ?

(In 2=0.693)

Options :

8643515151, 407

8643515152, 10-01's

8643515153, D034 s

8643515154, 17328

Question Number : 6 Question Id : 8643511716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AR PIREAINS 07 AR Q9L 9 Q- QUQUIT 2IAA(2FHee) And A2 Afef JIQE | €@

MNIYFTQ A IR 9LIQ FL JANQ 2Ig 3 diel 6R60 AND QRN ?
(u6 @9¢=500 g, 99 YT =20 g/s In 2=0.693 )

Options :

8643515151, “+65's

8643515152, 1001 s

0.034 s
8643515153.

8643515154, 17028

Question Number : 7 Question Id : 8643511717 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the value of mean free path (A) for oxygen molecules at temperature 27°C and
pressure 1.01x10° Pa. Assume the molecular diameter 0.3 nm and the gas is ideal.
(k=138x10"= JK™})

Options :



8643515155, 02 nm

58 nm
8643515156.

8643515157, 56 nm

102 nm
8643515158.

Question Number : 7 Question Id : 8643511717 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

27°C @IgeIgl 6 1.01x 10° Pa 9Id6q g9l ARIe 2gdeea arige da (G5 g a1g) @9 @9 |
2ERY 62 AGI@ I 0.3 nm 2A6E 9° GMIAF 9@ AP a4 | (k=1.38 x10-B JK— Y
Options :

8643515155, 02 M

58 nm
8643515156.

8643515157, 56 nm

102 nm
8643515158.

Question Number : 8 Question Id : 8643511718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the nature of flow of water from a circular tap, when its flow rate increased
from 0.18 L/min to 0.48 L/ min ? The radius of the tap and viscosity of water are 0.5 cm and
10~ 2 Pa s, respectively.

(Density of water : 10° kg /m?)

Options :

3643515159 oteady flow to unsteady flow

8643515160. Unsteady to steady flow

8643515161, emains steady flow



Remains turbulent flow
8643515162.

Question Number : 8 Question Id : 8643511718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ELERERER 6EITY QRIFIR cUIds Pedle @9 0.18 L/A%eg 0.48 L/AGeq QF di@ar, @
deIea geb @'d 629 ? QRIRIA CUIgR MIAIE 1e° Pea @20l (HdeRIdF) 2186 0.5 cm wQ°

10-3Pas 269 | (@99 2961 10° kg/m?>)
Options :
8643515159, & GIIVG UL GRIT

R643515160. dE6 gQlvg e Qe

3643515161, 20 I26Q Q@

7512 (C6R Q96q 2
8643515162. (996a9) 9

Question Number : 9 Question Id : 8643511719 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A charge Q is moving dl distance in the magnetic field B. Find the value of work done by
—

B.
Options :

8643515163, 1

8643515164, 2610

8643515165, [niinite

i
8643515166.

Question Number : 9 Question Id : 8643511719 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

— 3 O e — i f T
QAMIA 699 B 6@ 66aIFY 919 Q d1 Q0! 2PaA Aa | B QeI aAIFe Qidia adiaid QI2IQ @9 |
Options :
8643515163, 1

8643515164. 9

8643515165, 1€

8643515166.

Question Number : 10 Question Id : 8643511720 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the time interval between 33% decay and 67% decay if half-life of a substance is
20 minutes.

Options :

20 minutes
8643515167.

40 minutes
8643515168.

A0 minutes
8643515169.

13 mimate:
8643515170, - Lnutes

Question Number : 10 Question Id : 8643511720 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A8 6aIT aqigia aAIG 20 HFE 26, 6069 TGN 33% BA 9Q° 67% VA FRIER AN AR
SER Q9 |
Options :

ar)

e
8643515167, 20 199,

=

40 §ipe

8643515168.



8643515169. 60 1w,

3 68
8643515170. LR

Question Number : 11 Question Id : 8643511721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given circuit, comment on the type of transformer used.

iq i 011A

L

7]|(s]

220VE

Options :

8643515171, Str_-p - up transformer

8643515172, Step down transformer

Auto transformer
8643515173.

8643515174 Auxilliary transformer

Question Number : 11 Question Id : 8643511721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Q8 63QYPR afad aie, FIPLP 621N SRATAMR AU6R FAs G

hi-] TIT--q, 0.11A

- -

L
e Reowy,
D

l

220V @

Options :



8643515171, SFA A LINATRAR

8643515172, S QIR GIRQIRAR

8643515173, a6el SIRQURLIR

8643515174, 2ea3(2RzIAN), IRATNR

Question Number : 12 Question Id : 8643511722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The half-life of Aul*® is 2.7 days. The activity of 1.50 mg of Au!"® if its atomic weight is
198 g mol ! is, (N, =6 x10%/mol).

Options :

8643515175, 240 Ci

8643515176, -7 i

8643515177, 222 Ci

8643515178, >0 ¢

Question Number : 12 Question Id : 8643511722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Aul® q zE2Ig 2.7 % 266 | 9@ Aul% Q 0eAKAR BFe 198 g mol~1 @4, €869 1.50 mg
Au'® @ 2gRIge 629 | (N4 =6x10%/mol)

Options :

8643515175, 240 C

8643515176, 02/ i

8643515177, 292 Ci

8643515178, 200 ¢



Question Number : 13 Question Id : 8643511723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A bimetallic strip consists of metals A and B. It is mounted rigidly as shown. The metal A
has higher coefficient of expansion compared to that of metal B. When the bimetallic strip is

placed in a cold bath, it will :

Options :

8643515179 Bend towards the right

8643515180. Bend towards the left

8643515181, Vot bend but shrink

8643515182. Neither bend nor shrink

Question Number : 13 Question Id : 8643511723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 99° B Q@F 2960 1@ FuIQ 910 528 62108 | 121 Fe6a 26NN QAR IR AIVER ¢S

JIE | B 21g Q@I6a A Qe ANR AR IF OFE | 6U6EERER Qg A9 9@ 9199
ZRIQ(ENG Q12 26x QSIg, 9D :

A|B

Options :

2643515179, LI QEER E2RUS

Q643515180 ° NG G6aR CLIRIS

8643515181, Q@ @ 621k 90 6WlRlda



8643515182, T Tl 629 M ARYY 6@

Question Number : 14 Question Id : 8643511724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A large block of wood of mass M=5.99 kg is hanging from two long massless cords. A bullet
of mass m=10 g is fired into the block and gets embedded in it. The (block + bullet) then
swing upwards, their centre of mass rising a vertical distance h=9.8 cm before the
(block + bullet) pendulum comes momentarily to rest at the end of its arc. The speed of the

bullet just before collision is :

(take g=9.8 ms~?)
[LLLLLL LS

i M
—
(&)

Options :

8643515183, D114 m/s

8643515184, 5214 m/s

8643515185, 5014 m/s

8643515186, Crl-4 m/s

Question Number : 14 Question Id : 8643511724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



9ge M=5.99 kg @ 9@ 99 QI084q 999 9917 Qa6 99F Q9 gRIa GALIRE | 99¢ m=10g
Qda 9@ gA(Q6Me) Q R0HE F12Ig TR TUICRA 9Q° 92| GP6R ADTRI | I2U6R (0 + ga)
ROQ 2P ¢AN, 9100 689 96Q AVM N6 (FI0HE + @) c0gans Fa zeag adel goq
6QIew0 9g6R0f gaa 990 h=9.8 @ adar | 0. URI gog 950 696 6208 :

(78 g=9.8 ms~—2)

LT

m
—
e

Options :

8643515183

8643515184.

8643515185

8643515186

8114 m/s
8214 m/s
8314 m/s

8414 m/s

Question Number : 15 Question Id : 8643511725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Statement 1 : A cyclist is moving on an unbanked road with a speed of 7 kmh~! and
takes a sharp circular turn along a path of radius of 2Zm without reducing
the speed. The static friction coefficient is 0.2. The cyclist will not slip and

pass the curve. (3=9.8 m/s?)

Statement II : If the road is banked at an angle of 45°% cyclist can cross the curve of 2m

radius with the speed of 18.5 kmh ~! without slipping.
In the light of the above statements, choose the correct answer from the options given below.
Options :

643515187 Both statement I and statement 11 are true



8643515188, Both statement I and statement Il are false

8643515189 Statement 1 is correct and statement 11 is incorrect

2643515190 Statement 1 is incorrect and statement 11 is correct

Question Number : 15 Question Id : 8643511725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@@ 1: P66 AREAN, 9P 7 kmh ! 696160 9@ QRF9IR (ARMIFY) QIR 66 @gF 9e”
d5Q 696 @ KAIR QIZica gl 2 fea AT 9@ B1g QRIFIR daee QEeml | §a
QdE YeIE 0.2 266 | ARCAR 26 00] ¢d 0Fe AIF ¥e° QR0 AR 96 @89 |
(g= 98 m/s?)

a9 1l : G QI 45° 6RId6e FIaI(MNITg) 218, A, 2iea@ 2 §. MIAIE §FL IRIFIQ

gaq 18.5 kmh ! 6eg6a @ ¢d A¢ 2GR @R |
QUERIS RIGEPR BQAIER, FEa 98 IREgEag A0R RRAE 4R a9 :
Options :
2643515187, @04 @9 199° 9@ 1 A0Q 263 |

643515188 Bl W9 1 99° @ 1l 4w 202 |

8643515180, @ 1 6 OR @g @3 11 q@ 266 |

3643515100, 2= 16 @R @g @9 11 ¢ OR 6L |

Question Number : 16 Question Id : 8643511726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Y e A%

iz
A mosquito is moving with a velocity o =05t*i + 3tj + 9k m/s and accelerating in
uniform conditions. What will be the direction of mosquito after 2 s ?

Options :

tan (%W from x-axis

8643515191. 4



-1 (5} ;
tan | — | from y-axis
8643515192. \2)

1 :
tan —W from x-axis

8643515193, \3)

' 2

tan I[EW from y-axis
8643515194. LAt

Question Number : 16 Question Id : 8643511726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
6EIBN €18l p = 05t%7 + 3t] + 9k m/s G6REER G0 QU I ANNAT6R 696q Q40

@Q2e | 2 6964 e FaIge G @' 629 ?

Options :
x—EIGg‘_tan_l (EW
8643515191. \2)
y-28E tan ! (EW
8643515192, \2)
(2
vasgan!(2)
8643515193. )
yamqtan (2]
8643515194, RN

Question Number : 17 Question Id : 8643511727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In order to determine the Young's Modulus of a wire of radius 0.2 cm (measured using a
scale of least count=0.001 cm) and length Im (measured using a scale of least
count=1 mm), a weight of mass 1 kg (measured using a scale of least count=1 g) was
hanged to get the elongation of 0.5 cm (measured using a scale of least count 0.001 cm).
What will be the fractional error in the value of Young's Modulus determined by this

experiment ?

Options :



=
8643515195. .

L]
8643515196. Rze

g
8643515197, 0-14%

3
8643515108, -

Question Number : 17 Question Id : 8643511727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1m {ﬁ@ﬂ fig 1 mm g9l 695 QIal Fid RIKIRES) 69aY 6 0.2cm {@'ﬂ elid 0.001 con g%
64m Q9 919 @RAIRAS) QIQIE BFa 61T BIRQ IGE GlélleT fda @89l 6e6R, 0.5 cm(E‘ﬂF‘I
fIg 0.001 cm) 291 696, Q9 A9 YRR ) @ FAIQE ae 1 kg (E@ﬂ Pl =1g &9l 6
Q9 A1 AR ) @4g Qda 9@ Gotm GLmol QuIgal | 9@ gl QIQl ada @RI RE | G

Clélla F]alea Joa9 @@ Bmey e T
Options :

=
8643515195. 1.4 %

0
8643515196. 0.9%

e
8643515197. 8.1

A
8643515108, -

Question Number : 18 Question Id : 8643511728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A resistor develops 500 | of thermal energy in 20 s when a current of 1.5A is passed through
it. If the current is increased from 1.5 A to 3 A, what will be the energy developed in 20 s.
Options :

8643515199. 200

8643515200. o



8643515201. 1500 J

8643515202. 2000

Question Number : 18 Question Id : 8643511728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6KERERER 60T Qe goeaIal 6a@ 1.5 A 8 @945, 6916 geILe 62IRad, 20 69604 F12I6a 99
A6 500 ] @ G048 ege 62IRaM | 9T @946 69199 15 A @ 3 A @ 9F QAIUI, 6669
20 696REER 9260 6R60 JAMISR PTG RYR 699 ?

Options :

8643515199. 2

8643515200. 1000 )

8643515201, 1000 ]

8643515202. 2000

Question Number : 19 Question Id : 8643511729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Find out the surface charge density at the intersection of point x=3 m plane and x-axis, in
the region of uniform line charge of 8 nC/m lying along the z-axis in free space.
Options :
47.88 C
8643515203, 00 C/m

r 2
8643515204, 0-07 nC m

2
8643515205, 0124 nC m

40nCm 2
8643515206.

Question Number : 19 Question Id : 8643511729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
gaiea z-ggea 4l 8 nC/m @ 99 zﬁaﬁ cREIE SR AUBRER gal x=3 m 4drlom 8 x-2gQ
EE@@Q Oleg QQ@I‘E; dael QIPIe |/ |
Options :
3643515203, +-88 &/m

Fi G 2
8643515204, 007 nC m

A7 — 2
8643515205, 0124 nC m

2
8643515206, 10 nCm

Question Number : 20 Question Id : 8643511730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The following logic gate is equivalent to :

D

|
b—1 | —

Options :

8643515207, “ND Gate

NAND Gate
8643515208.

8643515209, OR Gate

NOER Gate
8643515210.

Question Number : 20 Question Id : 8643511730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



GFlen @8 MEE 6EI6E AAQRY AT :

—L1 >
D
— >
Options :
8643515207. SNRee
8643515208. sl i
OR 6616
86435152009.
NOR &glg
8643515210.
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Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
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Question Number : 21 Question Id : 8643511731 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



[f one wants to remove all the mass of the earth to infinity in order to break it up completely.

PR
The amount of energy that needs to be supplied will be 17 ﬁ where x is
5

(Round off to the Nearest Integer)
(M is the mass of earth, R is the radius of earth, G is the gravitational constant)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643511731 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Q93 966 9291 A4 IR AT 1WQ AT 99QY AAIF YAPIR UTARE FAQ IR FI6Y, 606

o S FE
<2ale INAIe 0929l d89a afnIa e = —— 6a60i6a x 268 9Q° i U6e
o ]

| (FReen gdacaea 9aild @)
(M 266 9291Q 99¢, R 266 9291 A8, G 266 Agiadd Jais)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643511732 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A swimmer can swim with velocity of 12 km/h in still water. Water flowing in a river has

velocity 6 km/h. The direction with respect to the direction of flow of river water he should

swim in order to reach the point on the other bank just opposite to his starting point is
“. (Round off to the Nearest Integer)

(Find the angle in degrees)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 22 Question Id : 8643511732 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6615 @166 6 km/h 6266Q RIE0 99 QRRIER P68 A8R4RIAT 12 km/h 69660 CL8 6 |
Q204@Ie1 99al e AFe 79 08 901 dea J98Ql din f916QIea @6 AP 9Ia 1LRQIe
Qg @QaQ! 6RI€ 26e ° | (Feeen gdaravica a8de aQ)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643511733 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

! !

A body of mass 2 kg moves under a force of (2 i +3j + 5!&} N. It starts from rest and was at

the origin initially. After 4 s, its new coordinates are (8, b, 20). The value of b is

(Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643511733 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(2;‘ F3j 5kIN @ o0 geiesa 2 kg 92Q Q98 9@ 94 d096a | 12l §a 2y 96 2R

QRN 99 92 gIRAee Req (2AGFR) 60 aml | 4 s 96R, 99IQ R7 UFTYER c2ml (8, b, 20)
I b @ fay 2ee | (Reecen gdarauea a8ae @)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643511734 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Aforce F =4i + 3j + 4k is applied on an intersection point of x =2 plane and x-axis. The

magnitude of torque of this force about a point (2, 3, 4) is . (Round off to the

Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643511734 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x=2 AFER 99° 1-UHQ 9K 680 HYEA IR 9@ F =47 + 3] + 4k Q 9eIS QAUAN | (2, 3, 4)

Q9 SRa6e @ eeta a1gde aaad 26 | (Gesen gdacaten a8ge @Q)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643511735 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A solid disc of radius ‘a” and mass ‘m’ rolls down without slipping on an inclined plane

2 X
making an angle 6 with the horizontal. The acceleration of the disc will be " g sinf where

b is . (Round off to the Nearest Integer)
(g=acceleration due to gravity

B=angle as shown in figure)

IF

6

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643511735 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ARIER AT 0 61 AYR FQAL| Y@ GIFISA ANES AUCR ‘a’ MIAIF 9 ‘M’ 9] FFL 9@ G FQ

W A . " _
aeld Qgalsy @9@. diwg | ¢4 @old c2d E gSﬂ"ﬂ}, ELROIER b PIEE | {G‘G‘.’E‘@ﬂ

qdaraien 9d€e )
(g=F1IRIIFRE GR8
0=Q4dIQIRAQ! 6RI8)




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643511736 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For an ideal heat engine, the temperature of the source is 127°C. In order to have 60%
efficiency the temperature of the sink should be __~ “C. (Round off to the Nearest

Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643511736 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6Ot 91T rEe AR, 29 IKAIgl 127°C 266 | 9@ 0% 990l 99 QR dia dw eIKeIg
___°C 629 @00 | (Facen gdaravica a8de @)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643511737 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



In a parallel plate capacitor set up, the plate area of capacitor is 2 m? and the plates are
separated by 1 m. If the space between the plates are filled with a dielectric material of
thickness 0.5 m and area 2 m? (see fig) the capacitance of the set-up will be e
(Dielectric constant of the material=3.2) (Round off to the Nearest Integer)

d

Y

Q"‘

IS

d

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643511737 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



6915 AAIBRIR 646 MEG FRUIAER 698 68eTR 2 m? 266 99° 69F 9T 1 m QE0IER AEES |
A3 69e 9@ FUER 29l AFY 0.5 m 6AIG @99 6AGTR 2 m%Q IR ANUCIYER d2geq gad
@AQIaN, (S cad) 9@ TevIAa 2IG0I 629 e, | (Feeen gdaraiica 20ae @)

d

L.
>

&Jk

R

2

(c@dte aaEldquels =3.2)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643511738 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The energy dissipated by a resistor is 10 m] in 1 s when an electric current of 2 mA flows
through it. The resistance is ). (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 28 Question Id : 8643511738 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
6KERERER 63N goealae FrIEeR 2 mA @ GQ4e, 6910 geI@o c2iRald, 15 60 goealda Qo
€8 299< 10 m] 6T | 9Q, goeaud aee 0 | (Feeen gdaraica afige aa)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 8643511739 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A deviation of 2° is produced in the yellow ray when prism of crown and flint glass are
achromatically combined. Taking dispersive powers of crown and flint glass as 0.02 and
0.03 respectively and refractive index for yellow light for these glasses are 1.5 and 1.6
respectively. The refracting angles for crown glass prism will be “ (in degree).
(Round off to the Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 8643511739 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

60696969 RIRE. 6 g @l9a Jerq 2ede aIee (AERATRIR) AN, 2068 AR AF6a
2° @ TQE 62RNAN | FRE I g9 A9 gidel aael (Gqaede aigk) Qaigen 0.02 9e°
0.03 @ g8Qadis 1.5 9e° 1.6 6R6R, QVR QI IR gEI0d 6ald 629 [

(Facen gdacsuien adae @a)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100



Question Number : 30 Question Id : 8643511740 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A closed organ pipe of length L and an open organ pipe contain gases of densities p; and p,

respecfivel}-'. The compressibﬂit}-' of gases are equal in both the pipes. Both the pipes are

x e

vihratf_ng in their first overtone with same fr equency. The Iength of the open pipe is ; L 1‘»IIF'_7

where x is . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643511740 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

L 6@dy @84 eaIt Fa @ gal 2ele @1 9Q° Qo 718 eslimigel Ay IR Ei":ﬁl'{{ elen Helwer
py 8 p, digE| Qaa E.‘__'Et@ Qg 28 | e IR QQIQQ@QE: eI Qél Aelle EEY | REd a1 AR

. £ 1 ; X e
2IQEEn 69fli@a Jafl ZYeRIntt @fle cuuRe | Yur]d 66lnidel @a1e cLElY 609 EY L.‘qlllp_j

6EI0IER x 6268 | (Geeeq gdaduea afde )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 864351117
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80



Mark As Answered Required? : Yes

Sub-Section Number : 1
Sub-Section Id : 864351117
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643511741 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The INCORRECT statement regarding the structure of Cg; is :

Options :

8643515221, It contains 12 six-membered rings and 24 five-membered rings.

The six-membered rings are fused to both six and five-membered rings.
8643515222.

2643515223 The five-membered rings are fused mﬂ}-' to six-membered rings.

8643515224 Each carbon atom forms three sigma bonds.

Question Number : 31 Question Id : 8643511741 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Cgo O C09Q1 G960 Gn 936 a8 :
Options :

8643515071 J268 € AN QFL QIO QPG ¥S° AIE ARY AR REC QR QLG
2643515270, & 98l @94 QR0 gPR IREe 6215 R0 8 19° dIf IRY 98 99 C0F @8R

W GF8 0U0Pe 906 69IR (R9R € AR F98 9PY 08 a8
864351523, I8 90U Q9Y QRAQER IAQ 606 6AAP 8 dA GUY AR G0° @A

COUD Qoo ooole 5 - S oen
2643515004, 90€E QIS LRI GEIE GGl G7 G0 @6kl

Question Number : 32 Question Id : 8643511742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The INCORRECT statements below regarding colloidal solutions is :
Options :



3643515225, “* colloidal solution shows colligative properties.

A colloidal solution shows Brownian motion of colloidal particles.

8643515226.

The flocculating power of AI°* is more than that of Na*.
8643515227.
8643515228, An ordinary filter paper can stop the flow of colloidal particles.

Question Number : 32 Question Id : 8643511742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QR 994 QgRe FF6a g9e O G@0 c2e :
Options :

lﬂ:h'\, L ! ot || SO |
864351525, AM® QRE e Qe GE 6ASIN

:i_- 3 rné'r':'l_ !\'—:1:!\-, 0o I.a,
8643515206, TmE GAC6Q ACAIdeR TIRGUR 6O c2cle

34 oy O ] t | O 2 |
2643515227, AlP" Q aemed A¢el Na™ @ @991 0Ig 2

IE1RY Saon Q) a0 2SI 90 00 eaaea
8643515228, dIFIeY JREE Qs ARe KR Y 'F' o e |

Question Number : 33 Question Id : 8643511743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The characteristics of elements X, Y and Z with atomic numbers, respectively, 33, 53 and 83
are :

Options :

8643515229. X, Y and Z are metals.

R643515230. X and Z are non-metals and Y is a metalloid.

8643515231, X is a metalloid, Y is a non-metal and 7 is a metal.

X and Y are metalloids and Z is a metal.
8643515232.



Question Number : 33 Question Id : 8643511743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

clme Q@ X, Y ¥9° Z Q1919 9RaId8e °el Q2IQ6eq 33, 53 99° 83 | AR Agd gea

6268 :

Options :
q9° o )

8643515229, 1 Y 4G Z Q6@ g

X 9Q° Z ge@ 2MIQ 99° Y 6968 auMle
8643515230.

CERE @ ~h [ st [ A0 ~ my e
2643515231 X 6262 adulg, Y 98 g 99° Z 9a 2Ig U

X 9Q° Y 6908 Qg 99° Z 99 a9 266
8643515232, = 2 @ Alg

Question Number : 34 Question Id : 8643511744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reduction reaction CANNOT be carried out with coke ?
Options :
8643515233, 208 T

8643515234, ZnO — Zn

8643515235, 120 — Cu

ALO, — Al
8643515236.

Question Number : 34 Question Id : 8643511744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QORGP 6RR 9RI0d gRYl (AR J9Ee @RIKIRTIES Q1@ ?
Options :

8643515233, 1205 — Fe



8643515234, £n0O — Zn

CuED — Cu
8643515235.

ALO, — Al
8643515236. :

Question Number : 35 Question Id : 8643511745 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statements about H,0O, are :

(A) wused in the treatment of effluents.

(B) wused as both oxidising and reducing agents.

(C) the two hydroxyl groups lie in the same plane.

(D) miscible with water.

Choose the correct answer from the options given below :
Options :
8643515237, () (B) and (D) only

8643515238, (B (€) and (D) only

8643515239, (1) (C) and (D) only

se43515240, o ) IE) and (D)

Question Number : 35 Question Id : 8643511745 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H,0, Gadea A0Q @3¢ 6208 :
(A) QWYIPQ TO6ALER MeLe D9
(B) ©RQ @09 99° IRI0R GIEe IILQ 94 |
(C) QEE YRR g4 AR AARER 2R Qe d |
(D) @@ 496 Aga1a
QQRge 9ag fg a0 weaf Qg :
Options :



qoe COWTHO)
8643515237, () (B) 9&° (D) 669G

8643515238, (B) (C) I&" (D) 6@e%

8643515239, (M) (O & (D) 6w

Jg"° C NN
2643515040, (&) (B) (C€) ¥&° (D) 60

Question Number : 36 Question Id : 8643511746 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[dentify the elements X and Y using the ionisation energy values given below :
lonization energy (kJ/mol)
15t ond
X 495 4563

Y 731 1450
Options :
8643515241, Na; Y=Mg

X=Mg ;Y=Na
8643515242.

8643515243, L7 Y=Mg

8643515244, Mg Y=F

Question Number : 36 Question Id : 8643511746 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QORYE 2PRIRAE 30 RIg eYIQ @8 cAlRe X 9e° Y q G912 -
ZIgM@ed 9% (k]/mol)

15t 2||L!
X 495 4563
Y 731 1450

Options :



8643515241, - Na; Y=Mg

8643515242, X=Mg ;Y =Na

8643515243, ~=F; Y=Mg

8643515244, ~— Mg Y=F

Question Number : 37 Question Id : 8643511747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The exact volumes of 1 M NaOH solution required to neutralise 50 mL of 1 M H,PO, solution
and 100 mL of 2 M H3P02 solution, respectively, are :
Options :

8643515245 50 mL and 50 mL

100 mL and 50 mL
8643515246.

8643515247, 100 mL and 200 mL

8643515245, 100 mL and 100 mL

Question Number : 37 Question Id : 8643511747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
50 mL 1 M H,PO, 994 4&° 100 mL 2M H,PO, Qe4geq gieIRes @<l 9 @ 2ledie 1M
NaOH @ Q0@ 2Ig9q 6268 :
Options :
r[;'ﬁ'-'
8643515245, 20 ML 4@ 50 mL

3643515246, 100 mL ~9&° 50 mL

8643515247, 100 mL 4@° 200 mL

2643515048, 100 mL ~09° 100 mL



Question Number : 38 Question Id : 8643511748 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the following metal complex/compounds in the increasing order of spin only

magnetic moment. Presume all the three, high spin system.
(Atomic numbers Ce=>58, Gd=64 and Eu=63.)
(a) (NH),[Ce(NO,),] (b) Gd(NO,), and (c) Eu(NO,),
Answer is :
Options :
8643515249, (@) < 0) < (©)

8643515250. sg=e

8643515251, (0) <@ <(c)

8643515252, (<) = @) = (®)

Question Number : 38 Question Id : 8643511748 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QMY PeRITHIR Q6fY § BF 47 F6fT RIEe ged @ FORNUS K FefR/cdlfe AT aeR
QARG 2QHa ARG 99 IER ARG 6R |

(9901988 a°al Ce=58, Gd=64 9&° Eu=63)

(a) (NH,),[Ce(NO,)] (b) GA(NO,), 9e° () Eu(NO,),

il

Options :

8643515249, @) < (0) < ()

8643515250.
8643515251.

8643515252.



Question Number : 39 Question Id : 8643511749 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fex, and Fey, are known when x and y are :

Options :

8643515253, ¥=F Cl Br, Land y=F, Cl, Br, I
8643515254, XY=, Cl, Br, land y=F, 1, Br
8643515255, Y=, Cl Brand y=F, Cl, Br, 1
8643515256, ¥ = ¢l Br, land y=F, Cl, Br, 1

Question Number : 39 Question Id : 8643511749 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fex, "19° Fey; @€IU6Y 66066 x 9Q° y LEIKEN 6L :

Options :
-=Ff{:IfBrIrL‘:"n =FrCIrBrI
8643515253, r, 1NQ* y r
2643515254, ¥—F ClL Br, 1x@® y=F, Cl, Br
= T rr_;-.::- —TR —
8643515055 Y= F, €L Br@®y=F, (], Br, I
x=Cl, Br, [9&" y=F, Cl, Br, I
8643515256.

Question Number : 40 Question Id : 8643511750 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The green house gas/es is (are ) :
(A) Carbon dioxide

(B) Oxygen

(C) Water vapour

(D) Methane

Choose the most appropriate answer from the options given below :

Options :
(A) only
8643515257. '

8643515258, (44) and (C) only

8643515259, 2 (€) and (D) only

8643515260, (/) and (B) only

Question Number : 40 Question Id : 8643511750 Question Type
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AL SUIAGER €LeR -

(A) 2FIQRIF]

(B) 2gIS

(C) @9 QY

(D) feaq aug

FORYS A998 UG AVRIS NAYS 60T QIS :
Options :

8643515257, (A) 689G

qoe At
8643515258, () 997 (C) 6896

qee . -
8643515259, () (©) 9&° (D) 6@aq

il o i '|-'|
8643515260, (A 99° (B) 6aaG

: MCQ Option Shuffling : Yes Is



Question Number : 41 Question Id : 8643511751 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-11 :

List-1 List-11
Test/Reagents/Observation(s) Species detected
(a) Lassaigne’s Test (i) Carbon
(b) Cuf(Il) oxide (i) Sulphur
(c) Silver nitrate (iii) N, S, P, and halogen
(d) The sodium fusion extract gives (iv) Halogen Specifically

black precipitate with acetic acid
and lead acetate

The correct match is :
Options :
3643515261, (@)F(1), (b)-(ii), (c)-(iv), (d)-(iii)

8643515262, @i}, (b)-(1), (c)-(iv), (d)-(i)
8643515263, (@ (L), (b)-(1), (c)-(i1), (d)-(iv)

8643515264, (@r (D, (B)-(v), (c)}-(ii), (d)-(ii)

Question Number : 41 Question Id : 8643511751 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SIRRI-1 TG QIR § F912 -

QIRRI-1 QIR I-11
aeigl /2dede /adise e geld ffealrg
(a) RARS ANS| i) Qe
(b) @aa Cu(ll) 2919 (i) QRge
() Jepe fIR6es (i) FINESIEHR, ANTQ, TATAQ 9S° VICRIEHT

(d) 9Ee@ 2f 99° 6me. 9T6eT. (iv) 2RI0e FEa QIEe
QPe 6QIPHN TIFR 9981 96 K6 Q!
PP6RT AUe 69
A0R 6ARRE 6U6E :



Options :
2643515261, @D, B)-(i), (©)-(iv), (d)-(iii)

2643515267, (@), (b)-(i), (¢)-(iv), (d)-(i1)
8643515263, (@)-(HL), (b)-(1), (c)-(11), (d)-(iv)

2643515264, @r(D, (b)-(iv), (c)-(iii), (d)-(i)

Question Number : 42 Question Id : 8643511752 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Statement 1 :  Sodium hydride can be used as an oxidising agent.
Statement Il : The lone pair of electrons on nitrogen in pyridine makes it basic.
Choose the CORRECT answer from the options given below :

Options :

8643515265. Both statement I and statement 1l are true

2643515266, Both statement | and statement Il are false

Statement 1 is true but statement 11 is false
8643515267.

Statement 1 is false but statement 1I is true
8643515268.

Question Number : 42 Question Id : 8643511752 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@@ I : CQAIFHM VRELIFIEE, IR FINS RUEY ILE T |

@@ II : QRETIERTER 2 IR QERQ 7 6P PRy AIRER 9R € @Rl |
FQRge Gag g A0K weed Qg

Options :

8643515065, PO Q@ 1 99° 11 964 26E |

8643515266. Wl s 1 9e” 11 ¢18Yl 26T |



8643515267, @@ 1 €64 9@° @@ 11 12 26e |

2643515068, @@ 1 2l 49° @@ II Q6 26E' |

Question Number : 43 Question Id : 8643511753 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An unsaturated hydrocarbon X on ozonolysis gives A. Compound A when warmed with
ammonical silver nitrate forms a bright silver mirror along the sides of the test tube. The

unsaturated hydrocarbon X is :

Options :

CH;—C=C—CH,
8643515269.

CH; —~C = C—CHg

8643515270. CH; CH,

HC=C—CH,—CH,
8643515271, :

CH,

|
-::m-:::ﬂ
8643515272.

Question Number : 43 Question Id : 8643511753 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4@ 20609 2REEIRIOR X @ B6mIcrIRddca A Age 24 | 6J18e A a9l @5 f0Q IR 19
Qae 6ROy adé G0R Q6a CUEEERER 1@ cdIdaq CAIFARIR JaRa FIREES 926 28 Ga
@RI | 290ge 2Iaeelanes X T 6998 -

Options :

CH;—C=C—-CH,
8643515260.

CH;—C = C—CH,

CH5CH,
8643515270,



8643515271, o gL

-

Cl 13 o C =
8643515272.

Question Number : 44 Question Id : 8643511754 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SN

Identify the reagent(s) ‘A" and condition(s) for the reaction

2

Options :

8643515273, 1~ Ch s dark, Anhydrous AlCl,

A=HC], Zn(Cl,
8643515274. =

=) I K
8643515275, 2= Ch s UV light

2643515076, 2=~ HC Anhydrous AICL,

Question Number : 44 Question Id : 8643511754 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(I

4ea9e 2iede(gea) ‘A’ 9o da(gea) Sa1@ .
Options :



A=C(l, ; dark, Anhydrous AlCl,
8643515273. e ! ‘

8643515274, £ =HCL ZnCl

LTIV 1
8643515275, 2= Ch i UV light

A=HC ; Anhydrous AICI,
8643515276. 5 :

Question Number : 45 Question Id : 8643511755 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CH, COOH
e - e
] N (\
OCHj, e,
In the above reaction, the reagent “A” is :
Options :
8643515277, LAAHa
. _ |
8643515278, *lkaline KMnQO,, H
8643515279, HCL Zn—Hg
t
8643515280, "NaBHy, HyO

Question Number : 45 Question Id : 8643511755 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CH;j COOH
£ A.'.f

==

OCH, OCH;

ROARYE JORLI6R JHade “A” CL08 :

-



Options :

8643515277, AIH,

! _ r
8643515278, Alkaline KMnO,, H

8643515279, ik Zn—Hg

NaBH,, H,0"
8643515280, ~

Question Number : 46 Question Id : 8643511756 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CN

R (i) CgHsMgBr Ether
___.-" e - /
| (1.0 equivalent), dry .
SN\~ (i) Hz0* Major Product
OCH;

The structure of X is :

Options :

8643515281.

8643515282.



rf ‘T"’ NH,
C,&,H;‘;
8643515283.
(T
- - "H-\.,_. ‘ H""‘-\-\.,_\_L Cﬁl 15
8643515284.

Question Number : 46 Question Id : 8643511756 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(i) CeHsMgBr Ether
(1.0 equivalent), dry X
(if) H;O+ Major Product

OCH;
‘X 6 ARER CERT :

Options :

8643515281.

8643515282.



8643515283.

8643515284.

Question Number : 47 Question Id : 8643511757 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is least basic ?
Options :

(CH;CO),NH
8643515285, i

8643515286, (C2Hs)2NH

(CH.CO) NHC, H
8643515287, \— 30 2775

(CoHe N
8643515288, |2 1503

Question Number : 47 Question Id : 8643511757 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FARHE F2IQ 6RRE TR NG :
Options :
ZonEie o
8643515285, ((H3CORNH

C,H:),NH
8643515286, \~215)2



CH,CO) NHC-H
s643515287. 30 215

C-H: )N
8643515288, 2 5]

Question Number : 48 Question Id : 8643511758 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ammonolysis of Alkyl halides followed by the treatment with NaOH solution can be used to
prepare primary, secondary and tertiary amines. The purpose of NaOH in the reaction is :
Options :

8643515289 'O remove basic impurities

8643515290. lo activate I\]H3 used in the reaction

8643515291 o Increase the reactivity of alkyl halide

8643515297 [© remove acidic impurities

Question Number : 48 Question Id : 8643511758 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QIeAe §610e 1e° 90198 2Ifg gee @fel AR UINEAR ANREIR ACAIKIINTQ 9Q° FI96Q
NaOH Q9¢ 99 gogdl @ | a9 goaaea NaOH 2 @6R4dY 6998 :
Options :
16 M9 o6 a0
8643515289, SRR IS e

GRCIE0 CUOOO \ B oao|
8643515200 Je@RI60 QQEGE NH, @ AR @6l

RR6 fmiaen deaddiee oF aael
643515291 Zim&n, Diniplet doqdidine] @F @l

2D 9 90 KA
8643515292. 5

Question Number : 49 Question Id : 8643511759 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which of the following polymer is used in the manufacture of wood laminates ?
Options :
8643515293, Melamine formaldehyde resin

8643515294 Urea formaldehyde resin

8643515295, Cis-poly isoprene

8643515296. Phenol and formaldehyde resin

Question Number : 49 Question Id : 8643511759 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QOmeo QE@E F1h) 6866 Q10 | feee aglee o599 o QIRE 4 ?
Options :
SARIFS RAINGIIRG 6aES
8643515293, SRR FATRICRICKE, St

Q62 IarfaEeRe aee
8643515294, = Sl

Ja-aRzZIpeage
8643515205, <9 HedlEEIgs

o rafnEe e caee
8643515206, 07 ™ TAAIMGDIEE, 6aEE,

Question Number : 50 Question Id : 8643511760 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The secondary structure of protein is stabilised by :
Options :

8643515097 van der Waals forces

8643515008, L eptide bond

2643515099, lydrogen bonding



8643515300 glycosidic bond

Question Number : 50 Question Id : 8643511760 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
6gITea 9o1de 9eeR| IDINad 62Iael 9@ Q9

Options :
SEEEE S o
8643515297, COORMIR O A7
Ty Ye G
8643515298, CUHUEIEIEL G
8643515299, BIEGIEWA @
eRIG0e @

8643515300. AR

Chemistry Section B
Section Id : 864351118
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351118
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643511761 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

When 35 mL of 0.15 M lead nitrate solution is mixed with 20 mL of 0.12 M chromic sulphate
solubon,  x 1072 moles of lead sulphate precipitate out. (Round off to the Nearest
Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal



Text Areas : PlainText
Possible Answers :

100

Question Number : 51 Question Id : 8643511761 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

EUEEEaER 35 mL 0.15 M 6m@ FIR6EE 9@6 20 mL 0.12 M 6/Ife dReTs q@d 496 Adidrg,
x10 73 6FIRG 6Re, ANETE UREAT 6RIRaN | (FReen geacel )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643511762 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ga (atomic mass 70 u) crystallizes in a hexagonal close packed structure. The total number
of voids in 0.581 g of Ga is %x10%'. (Round off to the Nearest Integer).

[Given : N, =6.023 x 10%7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643511762 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ga (CI0£163@ 99 70 u) 9@ CLQIECIRIR EQE, 6IRE, A°ATAQ QG ARG K6 | 0.581 g Ga 69
CEIE GAYIe QB x 107 | (FReen gaae @)

(9@ : N, =6.023 x10%)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 53 Question Id : 8643511763 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of orbitals with n=5, m= +2is (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643511763 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n=>5, m=+2 gEm AQLCIR e B

(Feoeq gearetl aa)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643511764 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
At 25°C, 50 g of iron reacts with HCI to form FeCl,. The evolved hydrogen gas expands

against a constant pressure of 1 bar. The work done by the gas during this expansion is

(Round off to the Nearest Integer).
[Given : R=8.314 Jmol ! K~!. Assume, hydrogen is an ideal gas]
[ Atomic mass of Fe is 55.85 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 54 Question Id : 8643511764 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
FeCl, 60% @0Q! diat 50 g @@ HCl 986 25°C 6o goaal @6a | 4@ 3 9I1a 1 bar Fa86a G660
LIGEEIETn, SMIg Q°g9Iad 94 | 9°gaiad Qndea diI9 QIR eERde @Iy ] @leg
(Paceq gdacdiien aade @a)
(98 : R=8.314T mol ! K™! 91Q6QI690 2148 ciid QI6Q g2 «9)
(Fe & Q107168& 99 628 55.85 u)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643511765 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

At 363 K, the vapour pressure of A is 21 kPa and that of B is 18 kPa. One mole of A and
2 moles of B are mixed. Assuming that this solution is ideal, the vapour pressure of the

mixture is kPa. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643511765 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

363 K 01961660 A 99° B @ Q919 919 92Ie6f 21 kPa 99° 18 kPa. | A @ 4@ &¢lin 9e° B @
QREFIR F8l 2108 | B8 9960] 2I9d 998 GIEY g9 Q6w (1gaa QI91A oI 6208
kPa | (Paeeq gaaceMien 0866 aa)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 56 Question Id : 8643511766 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sulphurous acid (H,S0O,) has Ka;=1.7x10"2 and Ka,=6.4x10"8. The pH of 0.588 M
H25C1'3 is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643511766 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

aagiad af (H,S0;) @ Ka;=1.7x10-2 9e° Ka,=6.4x10~% @ 0.588 M H,50, pH ¢2a&
(Faeeq gdaraiea 0fae @)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643511767 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 5.0 m mol dm ~? aqueous solution of KCI has a conductance of 0.55 mS when measured in
a cell of cell constant 1.3 cm ™ L.
1

The molar cm‘nductivit}-' of this solution is

mSm? mol ~!. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643511767 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
1.3cm ™! 6Qf §ois 0829 9@ 69R68 5.0 m mol dm 3 KCl @019 @946 fgIgindel 9a91eaa!
6228 0.55 mS | @2 9947 CRAIRIR TR IEe cPaE mSmZ mol~! | (Gecedn
geaeanien adiae aq)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 58 Question Id : 8643511768 Question Type : SA
Correct Marks : 4 Wrong Marks :

A and B decompose via first order kinetics with half-lives 54.0 min and 18.0 min respectively.
Starting from an equimolar non reactive mixture of A and B, the time taken for the
concentration of A to become 16 times that of B is min. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643511768 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

daf @F 9oRal AIKIN6R A ¥e° B QQT6 69IR21E Q1919 BEYIg Q21960 540 G396 9e° 18.0 dqe
A 49° B @ 90R9917 9@ aruige f869 2R @8, A 6 994 B @ 919204 16 g8 629
QIR AGAR (2LGYR) AN 26T A5e | (Fecen gdacauea dtde a9)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643511769 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

[Ti(HO), |°* absorbs light of wavelength 498 nm during a d —d transition. The octahedral

splitting energy for the above complex is %10~ J. (Round off to the Nearest
Integer). h=6.626 %10 M Jg: c=3% 108 ms 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643511769 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

d —d 2°g€6a [Ti(H,0) P+, 498 nm eaet 60@Y G989 2cRIQq §681894 Q6a | agcale 6dlde
digl 2ageald AT 98 26e x10~ 1971 (Gecer gdacsuen adde @a)
h=6626x10"3Js; c=3x10%® ms—1!

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643511770 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
In Duma’s method of estimation of nitrogen, (.1840 g of an organic compound gave 30 mL
of nitrogen collected at 287 K and 758 mm of Hg pressure. The percentage composition of

nitrogen in the compound is . (Round off to the Nearest Integer).

[Given : Aqueous tension at 287 K=14 mm of Hg]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643511770 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
gelw geRgice 9e8I0eI(FIRECierRs) o 2IRee ealdiaden, 0.1840 gifa e 609 edlgw, 287
K 612 @ 758 mm Hg <Idea 30 .6, 4909 62@8ed | 9@ cdidace aefaeaa 469
d°ge'q E6e | (G098 gdacatien daid @)
(9@ 28 : @912 69 (69749%) 287 K=14 mm Hg)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A

Section Id : 864351119
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351119
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643511771 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the foot of the perpendicular from point (4, 3, 8) on the line L, : o O =

2 z— b

[ 3 4

I # 0 is (3, 5, 7), then the shortest distance between the line L; and line

L:X-2_¥y—4_z-5
Options :

8643515311. V6

- - is equal to :



N|r—-ﬂ.

8643515312.
e &

8643515313, V3
2

8643515314, '°

Question Number : 61 Question Id : 8643511771 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x—a B2 a—h

: . casll @aea (1= 0) 92 (4, 3, 8) 09 2&E AAG I IQ
. 4

e L,:

(3,5,7) 260, 6669 6all L, 9e° 6a@ll L,: X 2 _¥—4 _z2-5 quea addq Q0Q QAR -

Options :

Sl

8643515311.

M|r—-ﬂ.

8643515312.

Sl=

8643515313.

| 2

8643515314.

Question Number : 62 Question Id : 8643511772 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the lengths of intercepts on x-axis and y-axis made by the circle = yz +ax + 2ay + c=0,

(a <0)be 242 and 2./5, respectively. Then the shortest distance from origin to a tangent to

this circle which is perpendicular to the line x + 2y =0, is equal to :

Options :



.

8643515315.

fr—

1

g5

8643515316.

&

8643515317.

2

8643515318.

Question Number : 62 Question Id : 8643511772 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(6909 (a < 0) QIR 98 x2+1y2+ax+2ay+c=0 QQI, x-AQ G y-2Y Q0 VUER 8GR 6Ty
AAR6EET 242 99 245 | 666 9P 98 96 Uee 999 Q19 698l x +2y=0 96 W9 G e&g 7168
ARGE 909 QG :

Options :

8643515315, V10

—

1

5.5

8643515316.
8643515317 V7
NG

8643515318

Question Number : 63 Question Id : 8643511773 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Leta =i +2j ~3kand b=2i -3j+5k. frxa=bxr, r-lai +2f+k) =3
3 § A A A —}2

and r- '2:' F5j uk} = — 1, a € R, then the value of «+ ‘r‘ is equal to :

Options :

8643515319. 9

8643515320, 11



8643515321, 13

8643515322. 15

Question Number : 63 Question Id : 8643511773 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A6RQ8 a=i+2j -3k €@ b =2i —3] +5k a§ rxa=bxr,
- | A A A -_; { A A Al _;2
r-(ui F2j + k) =3 qe° r-(2£| 5j —ak] =-1,aeR, 6669 ul|r‘ Q@ Qg -
Options :
8643515319, °
8643515320, 11
8643515321, 19
8643515322, 1°

Question Number : 64 Question Id : 8643511774 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f be a real valued function, defined on R—{—1, 1} and given by

' -1 2
@ = 31og. [F—

5 —1"
Then in which of the following intervals, function f(x) is increasing ?

Options :

e i3
8643515323, | <0 ) }

(=-1) U (2, =) - 1)
8643515324. b 4

.
(-, 51-{-1)
8643515325.



1
s ]

8643515326.

Question Number : 64 Question Id : 8643511774 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
|x — 1| 2

CIEaR9 f 49 QIae g el gee, 9219 R—{-1, 1} 2aaieea f(x) = 3log,

211060 €5 FRUUGE | 6069 7Y AW ARAINER TIR f(x) & FANEY ?

Options :
8643515323, <0 @)L L
' 1
(-=-1) v (I3, =) - 1))
8643515324, . /
2
( Irg] §—1}
8643515325.
1
(151
8643515326. -

Question Number : 65 Question Id : 8643511775 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 2
x
[f the points of intersections of the ellipse 16 | b_z = 1 and the circle x2 4 y3=4hr b > 4 Le

on the curve yzzf.%f-, then b is equal to :
Options :

8643515327, 2

8643515328. -

8643515329, 10



8643515330, 12

Question Number : 65 Question Id : 8643511775 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g
., g2t
‘b—z =1 9e* @@ 22 +1>=4b,b > 4 @ 68959 9% ¥ =3 aa6ad

g
e . x-
28 afaq (edea) —

g [
QU6R Z9U0 978 6669 b aaIg :
Options :

8643515327.

8643515328,
8643515329, 10

8643515330. * =

Question Number : 66 Question Id : 8643511776 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let C be the locus of the mirror image of a point on the pa_rabnla y2=-—1x with respect to the

line y=x. Then the equation of tangent to Cat P(2,1) is :

Options :

8643515331, ¥ 13Y=3
8643515332, X 1Y =3
8643515333, ¥ ¥=1
8643515334, X T2 =4

Question Number : 66 Question Id : 8643511776 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



F6Rae 2RI (2898) y?=4x QU0 9@ Q98 y=x 6RHIEER ge9n GRRIeea @9k 92 C
260 | 606 G99 P(2,1) 0168 @k 92 C @ A6aa T8 26e :

Options :
8643515331, ¥ T3Y=3

2x 4 y= 5
8643515332.

8643515333, ¥ Y= 1

8643515334, ¥ T2y =4

Question Number : 67 Question Id : 8643511777 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A denote the event that a 6-digit integer formed by 0, 1, 2, 3, 4, 5, 6 without repetitions,
be divisible by 3. Then probability of event A is equal to:

Options :

.

8643515335.

W

8643515336.

8643515337.

8643515338.

Question Number : 67 Question Id : 8643511777 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ferae @edl A= (0,1,2 3,4,5,6 &R AIg 265 QU@ @8 3 99l GaIgY 9@ g8 2w Gaa
oyl G2IQ @QQ1) | 6O ALEl A AEQIQ ARG AN -

Options :



8643515335.

8643515336.
9
8643515337. ~

8643515338.

Question Number : 68 Question Id : 8643511778 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d ;
If y=y(x) is the solution of the differential equation ay t(tanx) y=sinx, 0=x= %, with

o
1(0)=0, then LI’I IJ equal to :

Options :

.|r 1 \|
log, 2

\2+/2 =

8643515339, 3

1
5 log. 2
8643515340. =

lopg 2
8643515341. Be

=
— y,
1 log, 2

8643515342.

Question Number : 68 Question Id : 8643511778 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



_ d g
4% y=y(x), Iy + (tanx) y=sinx, []_1_% ¥(0)=0, ZYaw IAARada arllle Zee, 606
: (WWl _

L4 o .
Yy % qellq :

Options :

1
[ log, 2
[ 2 :
8643515339, V2,
1
8643515340. 2 182

log 2
8643515341. Be

1
— log_ 2
1 108
8643515342.

Question Number : 69 Question Id : 8643511779 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-rcos_l'[l {x}z}l sin” '(1 — {x}) . i
Let &« ¢ R be such that the function f(x) = 4 {x} {x}3 BT is

la, r=10

continuous at x=0, where {x}=x—[x], [x] is the greatest integer less than or equal to x.
Then :

Options :

8643515343, ©= 0

8643515344, O such o exists

= —E
8643515345.

= | =

8643515346.

Question Number : 69 Question Id : 8643511779 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

lcos™ (1 - )2) sin'(1 - ) »
A69a% aeR, 6Q00R TR f(x) = 1 x} — ) 1 FT x=0(9e82 0168)

iu, xr=20

@ 23P% T06 Z6E | 6A0I6R {x}=x—[1], [x] @ 2d x @ VIR VLT A TR, x A2 AAIR QI
x 0If QIF Qe Aisl | 6669
Options :

8643515343, @=0

96 69183 o 089 QIF

8643515344
i1
a= ——=
8643515345, V2
aT
t‘i wamm Rk
8643515346. 4

Question Number : 70 Question Id : 8643511780 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If (x, v, z) be an arbitrary point lying on a plane P which passes through the points (42, 0, 0),

(0,42, 0) and (0, 0, 42), then the value of the expression

' x—11 y—19 z—12 x+y+z
34 2 T " 5 * 2 2 :
z - z x ‘ z
(y—19)" (z—12) (x—11)° (z—12) (x—11)" (y—19)° 14(x-11) (y—19) (z-12)
is equal to :
Options :
8643515347. 45

8643515348, 27



8643515349. 0

8643515350, 2

Question Number : 70 Question Id : 8643511780 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ (x, v, 2) 99 9069 P Q96q agagl 9e 99, 2l (42,0, 0), (0,42, 0) 6 (0, 0,42) 92 &l 6o
QF @60, 6069 A9 A&

34 x—11 I y—19 z—12 x+y+z a aan
ke ful |
y—19)7 (z—12* (x—11)* (z—-12)* (x-11)° (y—-19° 14(x-11) (y-19)(z—-12) =

el -

Options :

8643515347. 45

8643515348, 9

8643515349. 0

8643515350, 2

Question Number : 71 Question Id : 8643511781 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let A={2, 3, 4, 5, ..., 30} and ‘>~" be an equivalence relation on A x A, defined by
(a, b) = (c, d), if and only if ad=Dbc. Then the number of ordered pairs which satisfy this

equivalence relation with ordered pair (4, 3) is equal to :

Options :

8643515351.

=3}

8643515352.

=]

8643515353.

oo

8643515354.



Question Number : 71 Question Id : 8643511781 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A60ea A={2,3,4,5,..., 30} 9" '~ 6Q6 A XA QU6Q 99 AN A°AR 6UOER (a, b) ~ (¢, d)
A% 6299 9% ad=bc | 6669 G%a 64IF (4,3) 92 Y& AEW QMR QYA P 6AIH AIFTR
Qegl Qg -

Options :

8643515351.

=}

8643515352.

|

8643515353.

o

8643515354.

Question Number : 72 Question Id : 8643511782 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"
Let P(x)=2x2 + bx + ¢ be a quadratic polynomial with real coefficients such that | P(x) dx = 1
q PoOLy 0

and P(x) leaves remainder 5 when it is divided by (x —2). Then the value of 9(b +c¢) is equal
to:

Options :

|

8643515355.

8643515356, 2

8643515357.

15
8643515358.

Question Number : 72 Question Id : 8643511782 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



pr
6928 P(x)=x%+bx + ¢ W@ QI 9296 34 QIF Q1916 Q99 ¢o9 199, 6A0aR Iﬂf’{x} dx =

99° P(x) @ (x —2) Q91 EIRcm RUGEHE 5 Q6 | 6069 9(b+c) o ¢]aY e -
Options :

)
8643515355.

8643515356, 7

8643515357. =

15
8643515358.

Question Number : 73 Question Id : 8643511783 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a rectangle ABCD having 5, 7, 6, 9 points in the interior of the line segments
AB, CD, BC, DA respectively. Let a be the number of triangles having these points from

different sides as vertices and |} be the number of quadrilaterals having these points from

different sides as vertices. Then (p — «) is equal to :
Options :
8643515359, 1173

8643515360, 1890
8643515361, /17

8643515362. *

Question Number : 73 Question Id : 8643511783 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ABCD 4@ 2196 6998 99k @8 Q1219 eaded AB, CD, BC, DA AIewa 6ee g (Faaud)
AIREE Q9 Qe QAIREN 5,7, 6,9 | A6Ra0 6e aq @ 9. aeg a1d 9 cra FaI
PRGN FOP NPT AW o B P AIRFR e B | 606Q (B—a) A :

Options :

8643515359, 1173



8643515360, 1890

=]
(S
|

8643515361.

=]
o
151

8643515362.

Question Number : 74 Question Id : 8643511784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the integral

_ (10]x] el
I_LJ o1 e

where [x] denotes the greatest integer less than or equal to x. Then the value of I is equal

to:
Options :

45 (e +1)
8643515363.

9 (e+1)
8643515364.

45 (e 1)
8643515365,

8643515366, © © D)

Question Number : 74 Question Id : 8643511784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10[x] ol

=]EI1

dx , arieed'y GoIa /e

(600162 [x] @ 2 x @ gaN x 01 AIF @ x A2 AAIF Uia TG 91 g4 QIge o)
606@ AAIRe I @ e aae -
Options :



8643515363, 2 (€ 11)

9 (e+1)
8643515364

45 (e 1)
8643515365.

9 (e—1)
8643515366.

Question Number : 75 Question Id : 8643511785 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let A(—1, 1), B(3, 4) and C(2, 0) be given three points. A line y=mx, m>0, intersects lines
AC and BC at point P and Q respectively. Let A; and A, be the areas of AABC and APQC

respectively, such that A, =3A,, then the value of m is equal to :
Options :
8643515367. 1
A
8643515368, 12

8643515369. .

8643515370,

Question Number : 75 Question Id : 8643511785 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
aeeaa A(—1,1),B(3,4) 9e* C(2,0) 676915 @@ @ | 99 608l y=mx, m>0 AC e BC 698Iq
Qegen P 8 Q QQ6a 689 @6R | F16RaR §u AABC @ 688T% A, 19° 8@ APQC @ 638U
A, 600Q& A =3A,, 6668 ‘m Q & AAIQ :

Options :

8643515367. 1

A
8643515368. 1°



.
8643515369. ~

8643515370, >

Question Number : 76 Question Id : 8643511786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least value of |z| where z is complex number which satisfies the inequality

((Iz +3) (lzI — 1) 1 . = e _
Iz + 1] log. 2| = 103\5 |5J;_ | 9{|, i = -1, is equal to :
Z J

Options :

-2

8643515371.
8643515372.

8643515373.

8643515374, S

Question Number : 76 Question Id : 8643511786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AERRE z 9@ A4 Qo (Q689 Q°enl), AIg

(|lz| +3) (z]| = 1) )
log. 2
[ EERl e

> log ;5 | 547 + 9|, i = V=1, 2Qaaeq d8 @66 | 6868 |2

Q ALRE gAY QIS
Options :

.
8643515371.

o=
8643515372, V2

8643515373. 3



8643515374, S

Question Number : 77 Question Id : 8643511787 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sinZx 1 + cos®x cos 2x
The maximum value of f(x)= |1 4 sinZx cosZx cos2x|,x e Ris :
sinzx COEEI sin 2x
Options :
"=
8643515375, V°
5
8643515376.
f—

8643515377.

2
8643515378, &

Question Number : 77 Question Id : 8643511787 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
. )
sin“x 1+ cos“x cos2x
. ¥ 2 4
f(x)=[1 + sin“x cos“x cos 2x|, (x € R) @ Q@@ ()@Y 26Q -
i 7 i
sin“x cosx sin 2x
Options :
e —
8643515375, V2

8643515376.

8643515377. V'

A'--I'..J'

8643515378.



Question Number : 78 Question Id : 8643511788 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given that the inverse trigonometric functions take principal values only. Then, the number

i : T & S 3 gty
of real values of x which sausf}f 511 1(€| b sin”} —| — sin~ !
J J

X is equal to :

Options :
8643515379, U

8643515380.

I

864351538]1.

8643515382,

Question Number : 78 Question Id : 8643511788 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QR U8 60 GURIP GEREFAEAR TRRAGR QR FHIAIF CRRAUIT | 6668 ANIRAE

g 3x) 1 4x g =
ﬂnl(i%|l ﬂnl(%$1::ﬂnlx,§iQGGQaD X R 99 JRIFINER QWU AAIF ¢
N A LY s
Options :
8643515379, 0
8643515380.

2
8643515381.

8643515382,

Question Number : 79 Question Id : 8643511789 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let f: S — S where 5=(0, =) be a twice differentiable function such that f(x+1)=xf(x). If
g 15 — R be defined as g(x) =log, f(x), then the value of ¢"(5) — ¢"(1) is equal to :
Options :
205
8643515383, 144

8643515384, 144

8643515385, 144

8643515386, |

Question Number : 79 Question Id : 8643511789 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(x+1)=xf(x) | 9@

A6eaa f:S —S (62w0I6a S=(0, *)) 9 YRR 2RARRIA TFF 6ATRF f
)| @ Ry QIR

g:S — R aee8q gx)=log, f(x), 969 @& Q@aIalIY, 6669 |g"(5) —g"(1
Options :

205
8643515383, 144

8643515384, 144

187
8643515385, 1+

8643515386, |

Question Number : 80 Question Id : 8643511790 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let CI be the curve obtained bv the solution of differential equation 2xy

Let the curve Cz be the solution of

X

Qxy

]
y

_dy

d_y = yz :xz,. x>0.
dx

. 1If both the curves pass through (1, 1), then

the area enclosed m the curves CT and C2 is equa_l o :

Options :

8643515387.

8643515388.

8643515389.

8643515390.

Ll
4

SIER

Question Number : 80 Question Id : 8643511790 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

» ) ) o
6689 2y d_J"' =y? — x2, (x>0) 2QAR AAIRRETQ AARIF @5 @R6adI C, fi6R | 22““:" .
X

dy

x yz dx

2990 AANRECR AAIF 86 I@geadl C, fer | 99 and @a6as, 91 (1, 1) fUEea J6R6R,
606Q @R6ad C, 8 G, QI 2199 6HG9 CHEUR QS :

Options :

8643515387.

8643515388.

8643515389.

8643515390.

el

i
2

o+ 1



Mathematics Section B

Section Id : 864351120
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351120
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643511791 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For real numbers o, 3, v and &, if

(241
. x%-1) A tan_ll:L |
\ X / d_l
-I- 9 IEI 1)
I,x'il 3x° + 1) tan_l[ |
. X S

b

. 2 %Y 2 ) 2
-1 | x+1 s e | -1| x+1
= Intha_n g [— H HP tan l[u | t o tan 1[—
; LW S . X 4 LU S

l"'.

FC

where C is an arbitrary constant, then the value of 10(x + vy + &) is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643511791 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



2
. %<1} 4 ’r,.?n'n_l[?L l 11
Qlae oMy | Qa, Iﬁr v R E_-}r Uruﬁl.‘ E][':-.? 12 A d_l
1| x°+1
[x'i'l 3x2 4 1) tan 1[1 W
- : v X )

2 2. X
+1 1 Sk e +1 o
= o Ingﬁ[tan [1 W H tan [ .4 ]W t o tan 1[1 W FC 6aR0l68 C 96 faag!

x J x J
dolw | 6069 10(a+ py+8) @ Y delle
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 82 Question Id : 8643511792 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In AABC, the lengths of sides AC and AB are 12 cm and 5 cm, respectively. If the area of
AABC is 30 cm? and R and r are respectively the radii of circumcircle and incircle of AABC,

then the value of 2R +r (in cm) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643511792 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
™ E‘E‘I&? AABC &9 'E]:??" AC 9e* d AB @ 6aay gall @6F 12 9.6 8 569.6 | 9@ Gﬁi‘lh AABC @
6ROTR 30 9669.6 99° R 8 r Q2IQER E}G‘lh AABC @ DE‘JE‘E" G Zaean o Qe “s;‘:?_’,@ 6e6e 2R +r
(6a.66a) @ f=y Qg

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText



Possible Answers :

100

Question Number : 83 Question Id : 8643511793 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the distance of the point (1, — 2, 3) from the plane x+ 2y —3z + 10=0 measured parallel to
] 2—-y =z+3

x 7
the line, 3 = = = 1 is J; then the value of m| is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643511793 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
' 1 2—g =43

= X = =
a8 eadl —— = = —— 92 2719 @4, aA6Q x+2y—32+10=0 01g 99 (1, ~2,3)
. m

7
F
F268 ARG QA6 .J'; 266, 6669 |m| @ gAY qAIF __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643511794 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
; — .—} 2 A Y —3 A M A
Let ¢ be a vector perpendicular to the vectors a = i + j ~kand b =i +2j+ k. If

. .—} e —}J
= 8 then the value of ¢ - 'a X b/ is equal to

veem 1 A A

c-\i+j+3k

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 8643511794 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

— —

hs A ns : - A A A . .
A68QQ ¢ GAISE a=i+j-k 9Q° b=i+2j+k TAIF QA 9F @ | 9F

[ e — |

i +3k) =8, 606 ¢ - la x b) @ gav aaie

Pl P

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643511795 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf:R — Rand g: R — R be defined as

(x+a, x<0 x+1, x<0

--{{I]:w . =0 t[x l}zlbr x=0

";: 1

where a, b are non-negative real numbers. If (gof) (x) is continuous for all x ¢ R, thena +bis
equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643511795 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



[x+a, x<0

fee@a f: R - R 99 g: R - R ET%‘-%"E}»#?E}\_ Jr{;_-]:w g e J@°
: llx R o=
z+1, < . » -
g(x)= - Qed Q4R @RIdiRige, 6de0Iea a, b AAXGINS QDL Qe | FW
[(x=1)"+b, =0

(gof) (x), x @ QAL QYL FRY UGl BAPR 2EE, 666 a+b QAAIR
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100
Question Number : 86 Question Id : 8643511796 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider the statistics of two sets of observations as follows :

Size Mean Variance
Observation I 10 2 2
Observation 11 n 3 1
_ _ — _

If the variance of the combined set of these two observations is 9 then the value of n is

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643511796 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



9@ 626 AIELRER JRHIIRg G9IR @R

2RI e (Aa) gaed(aag )
aaieaad I 10 2 2
adicamé 11 n 3 1

=

- ; 17
U9 Q9pleYe JdieedEda 4y d9adl ? geg, 6069 ‘n’ @ @ 9w

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643511797 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n k k = K =+ Kk k
: 1 3 7 ) 12 31

Let n be a positive integer. Let A = )% n [(— | (— | (—_ I (— | (— ]

P 5 ;Z:{:}{ )" ne, 2] \4] Y, lﬁ] .3 ]

If p3A=1 %m , then n is equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643511797 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. k k =y K
2 : : - 1 3 7
F16966 n 4@ gg el luuae A = 1)* nc (—W l[—w |(TW |
n @ gq g4 : éu'.i )" ng, sz 1)

ol 1
ga 63A=1 -jT , BEER n d¥lqa

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643511798 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a b
Let A= Ll } and B= Lll be two 2 %1 malrices with real enlries such that A=XB, where
da 2

11 -1 BB Fen o g
X=ﬁ[1 k ],and keR. Ifa] +a; = E[bl kb2) and (k2+1) b2 # ~2b, b,, then the

wvalue of k is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643511798 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

L a . b " A —
AERE0 Q99 euIRe §da fﬁ:Ll} q@° B=[b1] Q@b 2x1 gga Jda aIge (aedi),
€2 2

e ' i Tk =1 e §
60O8E A=XB, 64R0I6R x=%[1 k] 9e° k € R, 96 a)
2

2 \
=205 +1) <o

(k2+1) b3 # —2b; b, , 6869 k @ a4 26 ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 89 Question Id : 8643511799 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let 11—'5, a and b be in G.P. and l, %, 6 be in A.P.,, wherea, b> 0. Then 72(a+ b) is equal to
a

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643511799 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

9e° 6 98 daieq 9ol (6g41)6a

r

L

1
b
2198 | 60€0I6R a,b> 0 | 6069 72(a+b) @ (Y AAIR _

1
76900 ——, a 99 b 1@ qeeIan gasi(caa)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643511800 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let

.‘-'1"=1T;' WX W o1 X W o X W o1 X 1o : 1o n-terms
5S4 (x) ILEFHBEJ. I h}’a}‘wl I h:"a}?‘l I ln:‘,a},ul +log 1, X log 10 x + ... up to n-terms,

1/
acl asZr

where a > 1. If 5,,(x) =1093 and 5,(2x) =265, then value of a is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 90 Question Id : 8643511800 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

F1eREe!

-SH{xj =log 1, x + log 1 X +log 1, x +log 1y X t log 1 X Flop g0+ n-g19 ade
a2 a’ ah a’ a’ a’'Z

69Q0IER a> 1 | 9@ S,y(x) =1093 9&° Sp,(2x) =265, 606 a @ A QAP

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



